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General Instructions :

(1)
(i)

(ii1)

(iv)

(v)

30(B)

All questions are compulsory.

The question paper consists of 34 questions divided into
four sections — A, B, C and D.

Section A contains 10 questions of 1 mark each, which
are multiple choice type questions, Section B contains
8 questions of 2 marks each, Section C contains
10 questions of .3 marks each and Section D contains
6 questions of 4 marks each.

There is no overall choice in the paper. However, internal
choice is provided in one question of 2 marks, three
questions of 3 marks and two questions of 4 marks.

Use of calculators is not permitted.




Qg A
SECTION A

J99 G&FT 1 @ 10 7% J9% §99 1 3HF F 8 | §97 G 1 9
10 ¥ 9% ¥99 & o0 =R fa%eq 2T 7T &, ﬁmﬁ@%aww
T8 & | TE ey giaw |

Question numbers 1 to 10 carry 1 mark each. For each of
the question numbers 1 to 10, four alternative choices have
been provided, of which only one is correct. Select the
correct choice.

1. o Gl x2 +kx+4=0 & 9 99 §, o k & 99 2
(A) =*4
(B) 16
(C) +2
(D) -16

If the roots of the equation x> + kx + 4 = 0 are equal,
then the value of k is

(A) =4
(B) 16
C) +2
(D) -16

2. U a, 3a, 5a, ... F YU n TG &H ITHA @
(A) na
B) 2n-1)a
(C) n2a
(D) nZ%a®
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The sum of first n terms of the series a, 3a, 5a, ... is
(A) na

(B) @2n-1)a

(C) n?a

(D) n2a®

3. fordt @ fag 9 T g9 W ©id N d arelt Tt @il &
e @

(A) 0
(B) 2
C) 1
| (D) A9«

The number of tangents that can be drawn from an
external point to a circle, are

(A) 0
(B) 2
C) 1
(D) Infinite
4. IC JA & k% 9 5 9N A 0 W fod g A ¥ g9 | @i
T Tt W@l & e 4 9 7, @ g9 # o 2
(A) 59
(B) 4 I
(C) 6T
(D) 3 &
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If the length of tangent from a point A at a distance 5 cm
from the centre of the circle is 4 c¢m, then the radius of
the circle is

(A) 5cm
(B) 4 cm
(C) 6 cm

(D) 3 cm

5. U% g0 &% UTd Tk GqYst ABCD % | AR AB =6 THi,
BC = 7 9 @1 CD = 4 91 8, A AD #I darg (¥ #) @

(A 7

B) 6

C) 3

(D) 4

Quadrilateral ABCD i1s circumscribed to a circle. If AB = 6 cm,
BC = 7 ecm and CD = 4 cm, then the length of AD (in cm) is
(A) 7

(B) 6

C) 3

D) 4
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6. TH AABC, 5 BC =459, ,B=45°T £C=60°%8, &
qA&Y T aﬂﬁﬂﬁaﬁmmﬁm,aﬁ@ﬂwgé’
BC &I f5r9 o # sfer wiem, &8 @

(A) 3:4
B) 3:7
(C) 8:10
D) 4:7

To construct a triangle similar to A ABC in which
BC = 45 cm, £B = 45° and £ZC = 60° using a scale

fidta -,9;- BC will be divided in the ratio
(A) 8:4

(B) 3:7

©) 3:10

(D) 4:7

7. A TE A H YSE &G 616 a1 FU 2, O IHH AW
(@ ) § n= 2
A 7
(B) 14
(C) 56

(D) 28
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If the surface area of a sphere is 616 cmz, its diameter

(in ecm) is [Use © = %]

(A) 7
(B) 14
(C) 56

(D) 28

8. 42 UHl =Y I US IO &I WSk 919, 5 W 60° Hl 0] F=<fd
m?ﬁélﬂm_‘cl?r e (Fh W) 2 (n= 2 ohfm

7

(A) 11
- 22
(B) o

C) 22
(D) 44

An arc of a circle of diameter 42 cm, subtends an angle of
60° at the centre. The length of the arc (in cm) is

[Use n = %]

A) 11

22
(B) .

(C) 22
(D) 44
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9. I TF WHAR &I BT F AGE THH HAE H 3 AT 8, o G
3 R (3A) B

(A) 45°

(B) 30°

(C) 60°

(D) 90° -

If the length of the shadow of a tower is V3 times its height,

then the angle of elevation of the sun is
(A) 45°

(B) 30°
(C) 60°
(D) 90°

10. 3 TR H Us 919 IDEA W, o O I T AGRAT 2
A) 1

(B)

(C)

B = DN = W

(D)

The probability of getting two heads, when two coins are tossed
together, is
A 1

(B)

(C)

e R N V)

(D)

30(B) 8




11.

12.

13.

14.

@ e §
SECTION B

9T G 11 § 18 T%F AF 99 & 2 3% & |

Question numbers 11 to 18 carry 2 marks each.

faamd Sl 443x% + 5x - 243 =0 & TA @ HINT |
Find the roots of the quadratic equation

4/3%% + 5x — 243 = 0.

i 9t 3, 8, 13, .., 243. & faw T § 1591 U @
FIFT |

Find the 15" term from the end of the A.P. 3, 8, 13, ..., 243.

q Hhsd gl H Pread 5 9 qur 3 9@ | 92 g9 & 3H
g & s T B S B g Bl ST HIdl @ |
Two concentric circles are of radii 5 cm and 3 cm. Find the

length of the chord of the larger circle which touches the
smaller circle.

10 941 B A g B WH Sel HE T OGHHOT AR Hcll
2 | Y JUEUE H FIGA T HMGC | [x = 3-14 AT FST]

A chord of a circle of radius 10 ¢cm subtends a right angle
at the centre. Find the area of the minor segment.
[Use n = 3-14]

30(B) 9 P1.0.




15.

9 THl =T Bl 1 Wk STETCTRR ddT TR qed § qU ga
g 1 39 WA H B IR FFHR H Aqen § 9T 8 A

S A AT 3 AW qd 3= 4 9 € | 9dT & @rel ohué%

16.

17.

18.

i~ ~

R faq fora= aiaclt ot STEvIehdl 8 ?

A hemispherical bowl of internal radius 9 cm is full of
liquid. This liquid is to be filled into small ecylindrical
shaped bottles each of diameter 3 c¢cm and height 4 cm.

How many bottles are needed to empty the bowl ?

Tuise fo foag (-3, -3), (3, 3) T (-343, 343) Ts HHETg
e & oid € |

Show that the points (-3, —3), (3, 3) and (- 33, S\F) are

the vertices of an equilateral triangle.

fogati (—4, DA (3, —7) F e A X @ y-E

U H fawfora &war § 2

In what ratio does y-axis divide the line ségment joining
the points (-4, 7) and (3, = 7) ?

TF TMET TF FX Uikl *lqllﬁHRﬁfigd%aTﬁﬁElTﬁwm
FHifeT '

() TH HH I G

(i) 3 @ O
Jrora

30(B) 10




TF 9 § 4 Ghe TS, 5 o Te, 2 el e 99 4 g4 e g
g § 9 ggesdr U g el T8 | WifEehar Jia sifse f 98
Te

(i) St T H Fl

G) W ITH T

A die is thrown once. Find the probability of getting

(i) an even prime number.

(ii) a multiple of 3.
OR
A bag contains 4 white balls, 5 red balls, 2 black balls and

4 green balls. A ball is drawn at random from the bag.
Find the probability that it is

(i) black.

(i1) not green.
Qe ¥
SECTION C

997 G&IT 19 G 28 T% A% F9T & 3 3% & |
Question numbers 19 to 28 carry 3 marks each.

o [

19. k & 9@ A9 @ wive Gk fau f= o adfeor & g
= @l o

x2-2x(1+3k)+9=0
STrar

f= g @it x & faw g FifSe .
Xx+1 X2

+
x—-1 X+ 2

=odyr k], =32

30(B) 11 P Q.




20.

21.

Find the value(s) of k for which the following quadratic
equation has equal roots :

x2-2%x(1+3k)+9=0
OR

Solve the following equation for x :

x+1 X =2
7 -

=3 % ¥ 1 -2
g —1 X+ 2

200 T 400 & 9 T Tft WHd T@ASH & AMESA FMA HIGC
ST 79 99 @ |

Find the sum of all natural numbers between 200 and 400
which are divisible by 7.

T 9 fog P ¥ %% O a1 99 W I TRT W@I¢ PA 71 PB
i T | afg OP H WOE 99 & AW & WA g, of <uisy f&

A APB T99E 2 |

o
?@Wﬁw%%qﬁmmaﬁa,mﬁaﬁm
|

From an external point P, two tangents PA and PB are
drawn to a circle with centre O. If length of OP is equal to

 the diameter of the circle, then show that AAPB is

equilateral.
OR

Prove that the parallelograni circumscribing a circle is a
rhombus.

30(B) 12




22, 3Tl B & g9 W T ol W@d, S UH-GR F G 60°
HT HT I 3, G & fau @A & =7 faf@u |
Write the steps of construction for drawing a pair of

tangents to a circle of radius 3 cm, which are inclined to
each other at an angle of 60°.

23. TS g0 o AqATY & IR 25 T T | THH SFGA FI R |

The perimeter of the quadrant of a circle is 25 c¢cm. Find
its area.

24, @ =, fTH ¥ WS W aEed 216 U4 W 2, F Go
ekl i foell T T M S IHE T | 9 T H1 YOl
TBIE SABA Jd T |

YT
o Ol M & dAT 10 HT el TS dfd H B Rl Gig K GHH
e & 10 W oot dR S48 T8 | 9 H HIEE Fd HIST |

‘Three cubes each of volume 216 em® are joined end to end.
Find the total surface area of the resulting cuboid.

OR

A copper rod of diameter 2 ¢cm and length 10 c¢cm is drawn
into a wire of uniform thickness of length 10 m. Find the
thickness of the wire.

25. 9 &% TH foag |, S #AR & e fag & 30 #. & T W g,
AR & RRET &1 3A H7 30° 7 | HAR & Hems ;ud?ﬁﬁrql
(V3 = 1.732 & TAT HIFIT)

The angle of elevation of the top of a tower from a point on
the ground, which is 30 m away from the foot of the tower,

is 30°. Find the height of the tower. (Use /3 = 1.732)

30(B) 13 ' P18




26.

27.

28.

29.

x-3 W I8 fog g S S fogedi (3, —6) A1 (-1, 8) §

A 2

Find the point on the x-axis which is equidistant from the
points (3, —6) and (-1, 8).

fagall A3, 1) 3R B(1, 7) & e ael WW@@vE AB & 4R
e 9l # fawifsa &6 At fagell & fAdwis 3 FifT |
Find the coordinates of the points which divide the line

segment AB joining A(-3, 1) and B(1, 7) in four equal
parts.

T T A 17 § B W 1,28, ..., 17 0% & 3i% @ 7 |
mﬁﬁaﬁﬂwﬁaﬁ%m wﬁﬁu@@m@m
FehTell T/ | SIfEshal S S fo foebred Q. i€ W ferdl g%
9 () T fauq 9@ @ (i) 5§ 99 @ |

17 cards numbering 1, 2, 3, ..., 17 are put in a box and
mixed thoroughly. A card is drawn at random from the
box.. Find the probability that the card drawn bears (1) an
odd number (ii) a number divisible by 5.
@uE ¢
SECTION D

F9T GEIT 29 T 34 TF I9% 97 & 4 3% & |

Question numbers 29 to 34 carry 4 marks each.
TGS & i @ AR 180 € | BRI WA H o Fg HEA
T3S AT 2 | T HE I S |

AT
T AR a2, fSue few s § W 18 fEdisser @, 24 fEd
g0 & fdged S W, @ g 9N % IhA S R 37U
1 sie7 3ifyss ot @ | O & =Sl §d S |

30(B) 14




30.

31.

32.

30(B) 15 P.T.O.

The difference of squares of two numbers is 180. The
square of the smaller number is 8 times the larger
number. Find the two numbers.

OR

A motor boat whose speed is 18 km/h in still water,

takes 1 hour more to go 24 km upstream than to return
downstream to the same spot. Find the speed of the
stream.

TF HHIR HUR H, TET U 5, AW UT 45 q41 @ GQ &
IR 400 2 | Ta I G©&AT q97 GE S J1d HIGT |
In an A.P., the first term is 5, the last term is 45 and the

sum of all terms is 400. Find the number of terms and the
common difference.

fag AT 5 fr T g @ 99 W @ TE oo Yl @
TS d SUe Bl 8 |

Prove that the lengths of tangents drawn from an external
point to a circle are equal. -

& faelir 3.5 9 B 9 T WG F SMER H g, S I
frear ot wH ST W oeTeANifug € | 39 faed @ el
S 155 9 @ | faelit 1 el ye dewa 3@ SR |

[n:%?ﬁﬁq}

Al

YT 6 T, 8 THI W 10 T frewed g F A9 3™
et & s T a2 319 el S/ STar @ | 39 M &
frsar 3Jd FifST |




A toy is in the form of a cone of radius 3-5 cm mounted on
a hemisphere of same radius. The total height of the toy is
15-5 cm. Find the total surface area of the toy.

: 22
[Use t = —;},—]

OR

Metallic spheres of radii 6 cm, 8 cm and 10 cm,
respectively, are melted to form a single solid sphere. Find
the radius of the resulting sphere.

33. T% 39 TP & fouwk & g AU # Beud 33 §Hi qd
27 ¥ § R THA fdE IR 10 W B | THH Wyl gem
& [ T | [n = 3-14 FATY
The radii of the circular ends of a solid frustum of a cone

are 33 cm and 27 cm and its slant height is 10 cm. Find
its total surface area. [Use n = 3-14]

34. 7. 39 9o & R ¥ TH qHR & fEw F 75 H07 60°
? 3N 3HS UE H IFTHT FIUT 45° & | HAR K FAE ¥
From the top of a 7 m high building, the angle of elevation

of the top of a tower is 60° and the angle of depression of
its foot is 45°. Determine the height of the tower.

30(B) ' 16 1,000




